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DVM 
 

d 
P0   = 1   

ke  − g 

k =  d1 
e + g 

P0 

 
 

g = r x b 

CAPM 
 

k = Rf + [Rm – Rf]ß 
 

ß   = ß  VE   + ß   VD [1− t]  
eu eg    d   

 VE   + VD [1− t]   VE  + VD [1− t]  

 V  [1− t]  
ßeg = ßeu + [ßeu – ßd]   

D 
 

   VE  

WACC M&M 

WACC = k  VE   VD  
eg    + kd [1− t]   

 VE   + VD   VE   + VD  

 
Vg = Vu + TB 

FX, interest rates & inflation 

F   = S  x  [1 + r var ] 
0 0 

[1 + r base] 
 

[1 + r var ] 
S1 = S0 x 

[1 + r base] 
 

(1 + rnominal) = (1 + rreal) x (1 + inflation) 

 
 V  [1− t]  

keg = keu + [keu – kd]   
D 

 
   VE  

 
  V t  

WACC = keu 1−  D 
 

  VE  + VD  

TERP 

1 
TERP = [(N x cum rights price) + issue price] 

N + 1 
1 

Yield-adjusted TERP = [(N x cum rights price) + issue price x (Ynew/Yold)] 
N + 1 

VaR 
 

VaR = confidence interval value x standard deviation 
The confidence interval value comes from the normal distribution table.  

 

 


